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(1) 0000 (Idempotent Laws)
PVP=P PANP=P

(2) 00O (Associative Laws)
(PVQ)VR=PV(QVR) (PANQ)AR=PA(QAR)

(3) 00O (Commutative Laws)
PvQ=QVvP PANQ=QANP

(4) 00O (Distributive Laws)
PV(QAR)=(PVQ)AN(PVR) PA(QVR)=(PANQ)V(PAR)

(5) 0O O (Identity Laws)
Pv1li=1 PvOo=P PAN1=P PANO=0

(6) OO0 (Complement Laws)
Pv-P=1 PAN-P=0 -1=0 =0
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(7) DOO0OO0O (Double Negation Law)
-——P=P

(8) DOOODODOO (De Morgan’s Laws)
~(PVQ)=-PAN-Q ~(PAQ)=-PV-Q
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P Q|-P -Q PVQ —~(PVQ) —-PA-Q
1 1 0 0 1 0 0
1 0] 0 1 1 0 0
0 1 1 0 1 0 0
0 O 1 1 0 1 1






